An abstract approach to the study of derivation mappings on non-commutative rings

Elena P. Cojuhari

Abstract. An abstract approach to the study of derivation mappings on non-commutative rings is undertaken. These mappings are indexed by elements of multiplicative monoid. We describe completely the derivation mappings in the case of a monoid generated by two elements.

Mathematics subject classification: Primary 16S36; Secondary 13N15, 16S10. Keywords and phrases: Derivations, monoid algebras, free algebras.

1 Introduction

Let A be a ring (in general, non-commutative) and $1 \neq 0$, where 0 is the null element of A and 1 is the unit element for multiplication. Let G be a multiplicative monoid in which the unit element is denoted by e.

For each $x \in G$ we consider a family $\sigma_x = (\sigma_{x,y})_{y \in G}$ of mappings $\sigma_{x,y} : A \longrightarrow A$ introduced by the following assumption.

(A) For each $x \in G$ there exists a unique family $\sigma_x = (\sigma_{x,y})_{y \in G}$ of mappings $\sigma_{x,y} : A \longrightarrow A$ such that $\sigma_{x,y} = 0$ for almost all $y \in G$ (here and thereafter, almost all will mean all but a finite number, that is, $\sigma_{x,y} \neq 0$ only for a finite set of $y \in G$) and for which the following properties are fulfilled:

(i)
$$\sigma_{x,y}(a+b) = \sigma_{x,y}(a) + \sigma_{x,y}(b) \ (a, b \in A; x, y \in G);$$

(ii)
$$\sigma_{x,y}(ab) = \sum_{z \in G} \sigma_{x,z}(a) \sigma_{z,y}(b) \ (a, b \in A; x, y \in G);$$

(iii)
$$\sigma_{xy,z} = \sum_{uv=z} \sigma_{x,u} \circ \sigma_{y,v} \ (x, y, z \in G);$$

$$(iv_1) \ \sigma_{x,y}(1) = 0 \ (x \neq y; x, y \in G);$$
 $(iv_2) \ \sigma_{x,x}(1) = 1 \ (x \in G);$

$$(iv_3) \ \sigma_{e,x}(a) = 0 \ (x \neq e; x \in G);$$
 $(iv_4) \ \sigma_{e,e}(a) = a \ (a \in A).$

The condition (i) implies that $\sigma_{x,y}$ are homomorphisms with respect to addition of the abelian group of the ring A. Due to the properties from (A) the mappings $\sigma_{x,y}$ can be called derivations of the ring A. Thus we say that on the ring A a structure of differentiation σ is defined.

Further, we consider the monoid algebra denoted by $A\langle G \rangle$. Namely, the elements of $A\langle G \rangle$ are mappings $\alpha : G \longrightarrow A$ which we write as

$$\alpha = \sum_{x \in G} a_x \cdot x,\tag{1.1}$$

[©] Elena P. Cojuhari, 2007

where $a \cdot x$ denotes the mapping from G into A whose value at x is a and 0 at elements different from x. In (1.1) the sum is taken over almost all $x \in G$, that is the sum is taken over only a finite set. Obviously, $A\langle G \rangle$ is a left A-module if the action of A on $A\langle G \rangle$ is defined by

$$\alpha a = \sum_{x \in G} (aa_x) \cdot x \quad (a \in A).$$

 $A\langle G \rangle$ becomes a ring (generally, non-commutative) in respect to the operations

$$\sum_{x \in G} a_x \cdot x + \sum_{x \in G} b_x \cdot x = \sum_{x \in G} (a_x + b_x) \cdot x,$$
$$a \cdot x)(b \cdot y) = \sum_{z \in G} a\sigma_{x,z}(b) \cdot zy \ (a, b \in A; x, y \in G)$$

and extending with regard to the distributive law by

(

$$\left(\sum_{x\in G} a_x \cdot x\right) \left(\sum_{x\in G} b_x \cdot x\right) = \sum_{x\in G} \sum_{y\in G} (a_x \cdot x)(b_y \cdot y).$$

In [1] we construct a category C in which $A\langle G \rangle$ as an object of it has the universality property. Therefore, it could be applied the well-known construction [2] of skew polynomials of one or several variables over non-commutative ring A.

In the present paper we consider a particular case which is useful in studying skew polynomials of one variable. This particular case refers to the situation in which the monoid G is generated by two elements e and x, where $x \neq e$. This case permits us being in some supplemental assumptions to describe completely mappings of derivation $\sigma_{x,y}$ $(x, y \in G)$ (see Theorem 6 and 8, below). For example, if we consider $\sigma_{n,m} = 0$ for n < m, where in convenient notation $\sigma_{nm} := \sigma_{x^n,x^m}$ $(n, m = 0, 1, \ldots; x^0 := e)$, then as it turns out that σ_{nn} is a ring-homomorphism for any n, σ_{10} is a $(\sigma_{11}, 1)$ -derivation of A (Proposition 2). (The definition of (α,β) -derivation see, for example, in Cohn [3]). If in addition we assume σ_{11} is an automorphism then the same could be concluded for mappings σ_{nn} . Moreover, the mapping $\delta_0 := \sigma_{21} \circ \sigma_{11}^{-1}$ is a $(\sigma_{11}, 1)$ -derivation of A, as well, and generally, the mappings δ_n defined by $\delta_n = \delta_0 \circ \sigma_{nn}$ (\circ denotes the composition of mappings) for any $n = 0, 1, 2, ..., are (\sigma_{n+1, n+1}, \sigma_{nn})$ - derivations of the ring A (see Theorem 5). In Section 2 we give formulas in which σ_{n0} and σ_{nn} are expressed by σ_{10} and σ_{11} . We also consider here the dual case to the previous one, and namely, the case in which $\sigma_{n,m} = 0$ for n > m. In certain supplementary conditions the derivation mapping γ_0 given by the relation $\gamma_0 \circ \sigma_{11} = \sigma_{12}$ is a nilpotent mapping. We note that the results of Section 2 generalize some results obtained for skew polynomials in one variables by Smits in [4, 5] (see also Theorem 8.5, pp. 38–39 [3]).

2 Main results

Throughout the paper we study exclusively the particular case in which the monoid G is generated by two elements e and x, where $x \neq e$. This case is especially important in the study of the ring of skew polynomials in one variable.

Supposing the assumption (A) in what follows, we denote

$$\sigma_{nm} := \sigma_{x^n, x^m} \quad (n, m = 0, 1, \ldots).$$
 (2.1)

Then the formula from the condition (ii) of (A) can be written as follows

$$\sigma_{nm}(ab) = \sum_{j=0}^{\infty} \sigma_{nj}(a)\sigma_{jm}(b) \quad (a, b \in A; \ n, m = 0, 1, \ldots),$$
(2.2)

where as before the sum is taken for almost all j = 0, 1, ...

Next we form the matrix

$$\sigma(a) = [\sigma_{nm}(a)]_{n,m=0}^{\infty} \quad (a \in A),$$

$$(2.3)$$

and we have seen that the formula (2.2) can be written as follows

$$\sigma(ab) = \sigma(a)\sigma(b) \quad (a, b \in A),$$

where the multiplication in the right side is the usual multiplication of matrices. In addition, we note also that

$$\sigma(a+b) = \sigma(a) + \sigma(b) \quad (a, b \in A),$$

that follows at once by the condition (i) of (A). Thus, the following assertion can be formulated.

Proposition 1. The mapping $\sigma : a \longrightarrow \sigma(a)$ determines a matrix representation of A (in general of infinite degree).

In our notation the formula from the condition (iii) of (A) is written as follows

$$\sigma_{nm} = \sum_{j_1 + \ldots + j_n = m} \sigma_{1j_1} \circ \cdots \circ \sigma_{1j_n} \quad (n, m = 0, 1, \ldots)$$

$$(2.4)$$

in which $j_k = 0, 1, 2, ...$ for k = 1, ..., n.

1. (The case (A')). In this subsection we discuss the following case.

(A') The mappings σ_{nm} defined by (2.1) are such that $\sigma_{nm} = 0$ for n < m. In this case the matrix representation σ given by (2.3) has a lower triangular form, and the formula (2.2) is written as the following

$$\sigma_{nm}(ab) = \sum_{j=m}^{n} \sigma_{nj}(a)\sigma_{jm}(b) \quad (a, b \in A; \ n \ge m, \ n, m = 0, 1, 2, \ldots).$$
(2.5)

In particular,

$$\sigma_{n0}(ab) = \sum_{j=0}^{n} \sigma_{nj}(a)\sigma_{j0}(b) \quad (a, b \in A; \ n = 0, 1, \ldots).$$
(2.6)

For n = 1 the formula (2.6) is written as follows

$$\sigma_{10}(ab) = \sigma_{10}(a)\sigma_{00}(b) + \sigma_{11}(a)\sigma_{10}(b),$$

and since, by the condition (iv_4) of (A), $\sigma_{00}(b) = b$ we have

$$\sigma_{10}(ab) = \sigma_{11}(a)\sigma_{10}(b) + \sigma_{10}(a)b \quad (a, b \in A).$$

It should be mentioned that for any n = 0, 1, 2, ... the formula (2.5) implies

$$\sigma_{nn}(ab) = \sigma_{nn}(a)\sigma_{nn}(b) \quad (a, b \in A)$$

and the condition (i) of (A) becomes

$$\sigma_{nn}(a+b) = \sigma_{nn}(a) + \sigma_{nn}(b) \quad (a, b \in A).$$

So, σ_{nn} is a ring-homomorphism. Thus we can formulate the following assertion.

Proposition 2. Under the assumption (A') the mapping σ_{10} is a $(\sigma_{11}, 1)$ - derivation of A.

It is clear that, due to the assumption (A'), the formula (2.4) can be written as follows

$$\sigma_{nm} = \sum_{j_1 + \dots + j_n = m} \sigma_{1j_1} \circ \dots \circ \sigma_{1j_n} \quad (n, m = 0, 1, 2, \dots),$$
(2.7)

where $j_k = 0, 1 \ (k = 1, ..., n)$.

In particular,

$$\sigma_{n0} = \sigma_{10}^n \quad (n = 0, 1, 2, \ldots), \tag{2.8}$$

and

$$\sigma_{nn} = \sigma_{11}^n \quad (n = 0, 1, 2, \ldots).$$
(2.9)

Further properties of the mappings σ_{nm} will be obtained by supposing the following assumption.

(B) The mapping σ_{11} is an automorphism of the ring A.

Then, by formula (2.9), the following assertion follows immediately.

Proposition 3. The mappings σ_{nn} (n = 0, 1, ...) are automorphisms of the ring A.

Next, we define

$$\delta_0 := \sigma_{21} \circ \sigma_{11}^{-1}, \tag{2.10}$$

where σ_{11}^{-1} denotes the inverse of σ_{11} . We observe that (by using the law of multiplication (2.5) and the relations (2.9))

$$\begin{split} \delta_0(ab) &= (\sigma_{21} \circ \sigma_{11}^{-1})(ab) = \sigma_{21}(\sigma_{11}^{-1}(ab)) = \sigma_{21}(\sigma_{11}^{-1}(a)\sigma_{11}^{-1}(b)) = \\ &= \sigma_{21}(\sigma_{11}^{-1}(a))\sigma_{11}(\sigma_{11}^{-1}(b)) + \sigma_{22}(\sigma_{11}^{-1}(a))\sigma_{21}(\sigma_{11}^{-1}(b)) = \\ &= (\sigma_{21} \circ \sigma_{11}^{-1})(a)b + (\sigma_{22} \circ \sigma_{11}^{-1})(a)(\sigma_{21} \circ \sigma_{11}^{-1})(b) = \\ &= \delta_0(a)b + \sigma_{11}(a)\delta_0(b) = \sigma_{11}(a)\delta_0(b) + \delta_0(a)b, \end{split}$$

i.e.

$$\delta_0(ab) = \sigma_{11}(a)\delta_0(b) + \delta_0(a)b \quad (a, b \in A).$$

Thus, we have

Proposition 4. Under the assumptions (A') and (B) the mapping δ_0 defined by (2.10) represents a $(\sigma_{11}, 1)$ – derivation of the ring A.

Let us now consider the following mappings

$$\delta_n := \sigma_{21} \circ \sigma_{n-1 \ n-1} \quad (n = 1, 2, \ldots)$$

which in accordance with (2.9) can be represented as follows

$$\delta_n = \sigma_{21} \circ \sigma_{11}^{n-1} \quad (n = 1, 2, \ldots).$$

We observe that

$$\delta_n = \sigma_{21} \circ (\sigma_{11}^{-1} \circ \sigma_{nn}) = (\sigma_{21} \circ \sigma_{11}^{-1}) \circ \sigma_{nn} = \delta_0 \circ \sigma_{nn},$$

so that

$$\delta_n = \delta_0 \circ \sigma_{nn} \quad (n = 0, 1, 2, \ldots).$$

Theorem 5. Under the hypotheses of Proposition 4 the mapping δ_n for each n = 0, 1, 2, ... is a $(\sigma_{n+1 \ n+1}, \sigma_{nn})$ – derivation of the ring A.

Proof. By Propositions 3 and 4 we emphasize the fact that σ_{nn} is an automorphism of the ring A and that the mapping δ_0 is a $(\sigma_{11}, 1)$ – derivation of A.

We have

$$\delta_n(ab) = (\delta_0 \circ \sigma_{nn})(ab) = \delta_0(\sigma_{nn}(ab)) = \delta_0(\sigma_{nn}(a)\sigma_{nn}(b)) =$$
$$= \sigma_{11}(\sigma_{nn}(a))\delta_0(\sigma_{nn}(b)) + \delta_0(\sigma_{nn}(a))\sigma_{nn}(b) =$$
$$= \sigma_{n+1 \ n+1}(a)\delta_n(b) + \delta_n(a)\sigma_{nn}(b),$$

that is

$$\delta_n(ab) = \sigma_{n+1 \ n+1}(a)\delta_n(b) + \delta_n(a)\sigma_{nn}(b) \quad (a, b \in A; \ n = 0, 1, 2, \ldots),$$

and the assertion follows.

Finally, we remark the following consequence of the formula (2.7).

Theorem 6. Every mapping σ_{nm} (m = 0, 1, ..., n; n = 0, 1, 2, ...) is expressed by the derivation σ_{10} and the homomorphism σ_{11} .

Also from the formula (2.7), as it is easy to see, it can be concluded that the mapping σ_{nm} (m = 0, 1, ..., n) represents the coefficient at t^m of the formal extension of the binomial ($\sigma_{10} + \sigma_{11}t$)ⁿ. Thus, taking into account the relations (2.8) for the derivation of higher order σ_{10}^n we can write

$$\sigma_{10}^n(ab) = \sum_{m=0}^n \sigma_{nm}(a) \sigma_{10}^m(b) \quad (a, b \in A; \ n = 0, 1, \ldots).$$
(2.11)

For the particular case $\sigma_{11} = 1$ from (2.11) it follows the classical formula of Leibnitz

$$\sigma_{10}^{n}(ab) = \sum_{m=0}^{n} \binom{n}{m} \sigma_{10}^{n-m}(a) \sigma_{10}^{m}(b) \quad (a, b \in A; \ n = 0, 1, \ldots).$$

2. (The case (A'')). In this subsection we make some remarks on another situation.

Let us assume

(A'') The mappings σ_{nm} defined by (2.1) are such that $\sigma_{nm} = 0$ for n > m.

Some formulae and statements are similar to those from the previous case of (A'). We will restrict ourselves only to their enumeration and, concomitantly, we will give other special properties for considered case.

Thus, in the case of (A''), we have the following properties.

1) $\sigma_{nm} = 0$ for n > m (n, m = 0, 1, 2, ...);

2) The matrix representation σ of A has an upper triangular form at each element $a \in A$;

3) The formula of multiplication (2.2) becomes to be of the form

$$\sigma_{nm}(ab) = \sum_{j=n}^{m} \sigma_{nj}(a) \sigma_{jm}(b) \ (a, b \in A; \ n \le m, \ n, m = 0, 1, \ldots).$$
(2.12)

4) σ_{nn} for each n = 0, 1, 2, ... is a ring-homomorphism;

5) The formula (2.4) implies that

$$\sigma_{nn} = \sum_{j_1 + \dots + j_n = n} \sigma_{1j_1} \circ \dots \circ \sigma_{1j_n} = \sigma_{11} \circ \dots \circ \sigma_{11} = \sigma_{11}^n,$$

i.e.

$$\sigma_{nn} = \sigma_{11}^n \ (n = 1, 2, \ldots). \tag{2.13}$$

If, in addition, the assumption (B) is supposed, i.e. the mapping σ_{11} is an automorphism of the ring A, then

- 6) The mappings σ_{nn} (n = 0, 1, 2, ...) are also automorphisms of A;
- 7) The mapping

$$\gamma_0 := \sigma_{12} \circ \sigma_{11}^{-1} \tag{2.14}$$

is a $(1, \sigma_{11})$ - derivation of the ring A;

In general,

=

8) For each n = 1, 2, ... the mapping defined by

$$\gamma_n := \sigma_{12} \circ \sigma_{11}^{n-1}$$

is a $(\sigma_{nn}, \sigma_{n+1n+1})$ - derivation of the ring A, that is, the following formula

$$\gamma_n(ab) = \sigma_{nn}(a)\gamma_n(b) + \gamma_n(a)\sigma_{n+1n+1}(b) \ (a, b \in A)$$

$$(2.15)$$

holds for each n = 0, 1, 2, ...

Note that, by virtue of the relations (2.14), the mapping γ_n can be also expressed as

$$\gamma_n = \sigma_{12} \circ \sigma_{n-1 \ n-1} \quad (n = 1, 2, \ldots),$$

and that the formula (2.15) can be deduced via (2.2) by using the fact that σ_{nn} for each $n = 0, 1, 2, \ldots$ is a ring-homomorphism. Namely, we have

$$\gamma_n(ab) = \sigma_{12}(\sigma_{n-1\ n-1}(ab)) = \sigma_{12}(\sigma_{n-1n-1}(a)\sigma_{n-1n-1}(b)) =$$
$$= \sigma_{11}(\sigma_{n-1n-1}(a))\sigma_{12}(\sigma_{n-1n-1}(b)) + \sigma_{12}(\sigma_{n-1\ n-1}(a))\sigma_{22}(\sigma_{n-1n-1}(b))$$

and since $\sigma_{22} = \sigma_{11}^2$, so that $\sigma_{22} \circ \sigma_{n-1n-1} = \sigma_{n+1n+1}$, (2.15) follows at once.

In what follows we require additional conditions on the mappings σ_{nm} (n, m = 0, 1, ...).

(L) The mappings σ_{1j} (j = 1, 2, ...) are A - independent from the left, that means that if

$$\sum_{j=1}^{\infty} c_j \sigma_{1j}(a) = 0$$
 (2.16)

for all $a \in A$, then $c_j = 0$ (j = 1, 2, ...).

Note that, due to $\sigma_{1j}(1) = 0$ (j = 2, 3, ...) and $\sigma_{11}(1) = 1$ (cf. (iv_1) and (iv_2) of (A)), from (2.16) for a = 1 it follows that $c_1 = 0$. Therefore, without loss of generality, it can be considered that j is changed beginning with 2 and so on going almost everywhere over the set of integer numbers. Thus, the mappings σ_{1j} (j = 1, 2, ...) are A-independent from the left if and only if the condition

$$\sum_{j=2}^{\infty} c_j \sigma_{1j}(a) = 0 \quad (\forall a \in A)$$

implies $c_j = 0 \ (j = 2, 3, ...).$

Similarly, the notion of A - independent from the right can be introduced for the mappings σ_{1j} (j = 1, 2, ...). Namely, we say that the mappings σ_{1j} (j = 1, 2, ...) are A-independent from the right if whenever from the condition

$$\sum_{j=2}^{\infty} \sigma_{1j}(a)c_j = 0 \quad (\forall a \in A)$$

it follows $c_j = 0 \ (j = 2, 3, ...).$

An alternative of the assumption (L) is the following one.

(R) The mappings σ_{1j} (j = 1, 2, ...) are A-independent from the right.

Remark. The assumption of the A-independence (L) (respectively (R)) is satisfied for instance if for the mappings σ_{1j} (j = 1, 2, ...) there exists a family of the elements $a_j \in A$ (j = 1, 2, ...) such that the elements $\sigma_{1j}(a_j)$ (j = 1, 2, ...) are not left (resp. right) zero-divisors in A and $\sigma_{1k}(a_j) = 0$ for $j \neq k$ (j, k = 1, 2, ...). In the particular case of an integral domain A it is sufficient to require that $\sigma_{1j}(a_j) \neq 0$ (j = 1, 2, ...)and $\sigma_{1k}(a_j) = 0$ for $j \neq k$ (j, k = 1, 2, ...).

The next assumption will be useful for our further discussion.

(C) There exists a positive integer r such that $\sigma_{1j} = 0$ for j > r.

It turns out that the assumption (C) together with the assumption of the independence (R) implies the following property.

Proposition 7. $\sigma_{kj} = 0 \ (k = 1, \dots, r; \ j = r + 1, r + 2, \dots).$

Proof. For k = 1 the assertion is true via the assumption (C). For the other values the assertion follows from the independence conditions given by the assumption (R). This can be shown as follows. First we observe that (cf. (2.12))

$$\sigma_{1j}(ab) = \sum_{k=1}^{j} \sigma_{1k}(a) \sigma_{kj}(b) \quad (a, b \in A).$$

Then, since $\sigma_{1j}(ab) = 0$ for $j = r + 1, r + 2, \dots$, we can write

$$\sum_{k=1}^{j} \sigma_{1k}(a) \sigma_{kj}(b) = 0 \quad (j = r+1, r+2, \ldots).$$

For j = r + 1, we obtain

$$\sum_{k=1}^{\prime} \sigma_{1k}(a) \sigma_{kr+1}(b) = 0$$

from which, by the assumption (R), we get

$$\sigma_{1r+1}(b) = \ldots = \sigma_{rr+1}(b) = 0 \quad (\forall b \in A),$$

i.e. $\sigma_{kr+1} = 0 \ (k = 1, \dots, r).$

The same can be concluded for the other values by similar arguments. \Box Further, we note the relations (cf. (*iii*) of (A))

$$\sigma_{n+ms} = \sum_{k+j=s} \sigma_{nk} \circ \sigma_{mj} = \sum_{k+j=s} \sigma_{mj} \circ \sigma_{nk} \ (s=n+m,n+m+1,\ldots), \quad (2.17)$$

where k = n, n + 1, ... and j = m, m + 1, ...

From Proposition 7 we have $\sigma_{rk} = 0$ for $k = r + 1, r + 2, \ldots$ Hence, by applying the relations (2.17) for n = r and m = j $(j = 1, \ldots, r)$, one has

$$\sigma_{rr} \circ \sigma_{1j} = \sigma_{1j} \circ \sigma_{rr} \quad (j = 1, \dots, r), \tag{2.18}$$

or, taking into account the relations (2.13),

$$\sigma_{11}^r \circ \sigma_{1j} = \sigma_{1j} \circ \sigma_{11}^r \quad (j = 1, \dots, r).$$

Note that the relations (2.18) can be deduced also by observing that

$$\sigma_{r+1r+j} = \sum_{k+l=r+j} \sigma_{rk} \circ \sigma_{1l} = \sigma_{rr} \circ \sigma_{1j},$$
$$\sigma_{r+1r+j} = \sum_{k+l=r+j} \sigma_{1k} \circ \sigma_{rl} = \sigma_{1j} \circ \sigma_{rr}.$$

Next we discuss some special properties of the mappings σ_{nm} . Again, in virtue of the condition (*iii*) of (A), we see

$$\sigma_{rr+j-1} = \sum_{k+l=r+j-1} \sigma_{r-1k} \circ \sigma_{1l} = \sigma_{r-1r-1} \circ \sigma_{1j} + \sigma_{r-1r} \circ \sigma_{1j-1} + \sigma_{r-1r+1} \circ \sigma_{1j-2} + \cdots$$

and since $\sigma_{rr+j-1} = 0$ for j = 2, 3, ... and also $\sigma_{r-1r+1} = \sigma_{r-1r+2} = ... = 0$, it follows the relations

$$0 = \sigma_{r-1r-1} \circ \sigma_{1j} + \sigma_{r-1r} \circ \sigma_{1j-1} \quad (j = 2, 3, \ldots).$$
(2.19)

Similarly

$$\sigma_{rr+k} = \sum_{s+t=r+k} \sigma_{1s} \circ \sigma_{r-1t} = \sigma_{1k+1} \circ \sigma_{r-1r-1} + \sigma_{1k} \circ \sigma_{r-1r},$$

and hence

$$\sigma_{1k+1} \circ \sigma_{r-1r-1} + \sigma_{1k} \circ \sigma_{r-1r} = 0 \quad (k = 1, 2, \ldots)$$
(2.20)

In virtue of the relations (2.19) and (2.20), we obtain

$$(\sigma_{1k} \circ \sigma_{r-1r-1}) \circ \sigma_{1j} = \sigma_{1k} \circ (\sigma_{r-1r-1} \circ \sigma_{1j}) = -\sigma_{1k} \circ (\sigma_{r-1r} \circ \sigma_{1j-1}) = -(\sigma_{1k} \circ \sigma_{r-1r}) \circ \sigma_{1j-1} = (\sigma_{1k+1} \circ \sigma_{r-1r-1}) \circ \sigma_{1j-1},$$

i.e.

$$(\sigma_{1k} \circ \sigma_{r-1r-1}) \circ \sigma_{1j} = (\sigma_{1k+1} \circ \sigma_{r-1r-1}) \circ \sigma_{1j-1} \quad (j = 2, 3, \dots; k = 1, 2, \dots).$$
(2.21)

In particular, for k = 1, the formula (2.21) becomes to be as follows

$$\sigma_{rr} \circ \sigma_{1j} = (\sigma_{12} \circ \sigma_{r-1r-1}) \circ \sigma_{1j-1} \quad (j = 2, 3, \ldots)$$

and thus, by the commutative relations (2.18), we have

$$\sigma_{1j} \circ \sigma_{rr} = (\sigma_{12} \circ \sigma_{r-1r-1}) \circ \sigma_{1j-1} \quad (j = 2, 3, \ldots).$$

Then, we can continue

$$\sigma_{1j} \circ \sigma_{rr}^2 = (\sigma_{12} \circ \sigma_{r-1r-1}) \circ (\sigma_{1j-1} \circ \sigma_{rr}) = (\sigma_{12} \circ \sigma_{r-1r-1}) \circ [(\sigma_{12} \circ \sigma_{r-1r-1}) \circ \sigma_{1j-2}] = (\sigma_{12} \circ \sigma_{r-1} \circ \sigma_{r-1})^2 \circ \sigma_{1j-2},$$

and, by further iteration, we obtain

$$\sigma_{1j} \circ \sigma_{rr}^{j-1} = (\sigma_{12} \circ \sigma_{r-1 \ r-1})^{j-1} \circ \sigma_{11} \quad (j = 2, 3, \ldots).$$
(2.22)

Substituting in (2.22) j = r + 1 and taking into account that $\sigma_{1r+1} = 0$, we obtain

$$(\sigma_{12} \circ \sigma_{r-1r-1})^r \circ \sigma_{11} = 0.$$
 (2.23)

Since, by the assumption (B), σ_{11} is an automorphism, from (2.23) it follows

$$(\sigma_{12} \circ \sigma_{r-1r-1})^r = 0.$$

Therefore $\gamma_r = \sigma_{12} \circ \sigma_{r-1r-1}$ is a nilpotent mapping of index r.

In virtue of (2.22), we see that the mappings σ_{1j} (j = 2, 3, ...) can be expressed by σ_{11} and σ_{12} , namely

$$\sigma_{1j+1} = \gamma_r^j \circ \sigma_{11}^{-rj+1} \quad (j = 1, 2, \ldots).$$

In addition, we note that the mapping $\gamma_0 = \sigma_{12} \circ \sigma_{11}^{-1}$ commutates with σ_{rr} . In fact, from (2.18), in particular, it follows

$$\sigma_{rr} \circ \sigma_{12} = \sigma_{12} \circ \sigma_{rr},$$

from which, multiplying from the right by σ_{11}^{-1} , we have

$$\sigma_{rr} \circ (\sigma_{12} \circ \sigma_{11}^{-1}) = (\sigma_{12} \circ \sigma_{11}^{-1}) \circ (\sigma_{r+1r+1} \circ \sigma_{11}^{-1})$$

or

$$\sigma_{rr} \circ \gamma_0 = \gamma_0 \circ \sigma_{rr}. \tag{2.24}$$

Further, we change in the formula (2.22) the expression $\sigma_{12} \circ \sigma_{r-1} \circ \sigma_{r-1}$ by $\gamma_0 \circ \sigma_{rr}$, and we get

$$\sigma_{1j} \circ \sigma_{rr}^{j-1} = (\gamma_0 \circ \sigma_{rr})^{j-1} \circ \sigma_{11}.$$

This relation together with the commutative property (2.24) implies

$$\sigma_{1j} \circ \sigma_{rr}^{j-1} = (\gamma_0^{j-1} \circ \sigma_{11}) \circ \sigma_{rr}^{j-1}.$$

Since σ_{rr} is an automorphism, we conclude

$$\sigma_{1j} = \gamma_0^{j-1} \circ \sigma_{11} \quad (j = 2, 3, \ldots).$$
(2.25)

In particular, from (2.25) it follows that

$$\gamma_0^r \circ \sigma_{11} = \sigma_{1r+1} = 0,$$

that is $\gamma_0^r = 0$. Moreover, if $\sigma_{1r} \neq 0$, then $\gamma_0^{r-1} \neq 0$.

We formulate the obtained results as follows.

Theorem 8. Under the assumptions (A''), (B), (C) and (R) the following assertions hold.

1) The derivation γ_0 is a nilpotent mapping of index r, that is, $\gamma_0^r = 0$, and $\gamma_0^{r-1} \neq 0$ whenever $\sigma_{1r} \neq 0$;

2) $\gamma_r = \sigma_{12} \circ \sigma_{r-1r-1}$ is also a nilpotent mapping of index r;

3) The mappings σ_{1j} (j = 2, 3, ...) are expressed by σ_{11} and σ_{12} , and, moreover, for them the relations (2.25) and the commutation relations (2.18) are held.

The author is indebted to Professor Yu. M. Ryabukhin for encouragement, useful comments and suggestions.

References

- COJUHARI E. The property of universality for some monoid algebras over non-commutative rings. Buletinul A.Ş.R.M., Matematica, 2006, N 2(51), p. 102–105.
- [2] LANG S. Algebra. Addison Wesley, Reading, Massachusetts, 1970.
- [3] COHN P.M. Free rings and their relations. Academic Press, London, New-York, 1971.
- [4] SMITS T.H.M. Nilpotent S-derivations. Indag. Math., 1968, 30, p. 72–86.
- [5] SMITS T.H.M. Skew polynomial rings. Indag. Math., 1968, 30, p. 209–224.

State University of Moldova A. Mateevici str. 60 Chisinau MD-2009, Moldova E-mail: cojuhari@usm.md Received January 17, 2007